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E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 3 11 1 0.000 0
2 4 11 1 0.000 0
3 4 11 1 0.000 0
4 6 11 1 0.000 0
5 4 11 1 0.000 0
6 3 10 1 0.000 0
7 3 11 1 0.000 0
8 4 10 1 0.000 0
9 6 12 2 0.000 0
10 4 11 1 0.000 0
11 4 11 1 0.000 0
12 4 13 1 0.000 0
13 4 12 1 0.000 0
14 5 12 1 0.000 0
15 5 11 1 0.000 0
16 4 10 1 0.000 0
17 4 10 1 0.000 0
18 4 12 1 0.000 0
19 4 13 1 0.000 0
20 4 13 1 0.000 0
21 4 12 1 0.000 0
22 4 11 1 0.000 0
23 3 10 1 0.000 0
24 3 11 1 0.000 0
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10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 —_— JR— ———
2 - - -
3 _ _ —_—
4 —_— JR— ———
5 - - -
6 —_— JR— ———
7 - - -
8 _ _ —_—
9 —_— JR— ———
10 — — —-
11 — — —
12 — — —-
13 — — —
14 — — —
15 — — —-
16 -— — —
17 — — —-
18 — — —
19 -— — —
20 — — —-
21 6 11 1 0.000 1
22 6 10 1 0.000 1
23 6 10 1 0.000 1
24 6 11 2 0.000 1
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E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 3 11 1 0.000 0
2 4 11 1 0.000 0
3 3 10 1 0.000 0
4 3 11 1 0.000 0
5 3 10 1 0.000 0
6 4 11 1 0.000 0
7 4 12 1 0.000 0
8 5 11 1 0.000 0
9 4 10 1 0.000 0
10 4 11 1 0.000 0
11 4 11 1 0.000 0
12 5 10 1 0.000 0
13 4 10 1 0.000 0
14 5 11 1 0.000 0
15 4 11 1 0.000 0
16 4 10 1 0.000 0
17 4 11 1 0.000 0
18 4 12 1 0.000 0
19 4 10 1 0.000 0
20 4 11 1 0.000 0
21 4 10 1 0.000 0
22 5 10 1 0.000 0
23 5 11 1 0.000 0
24 5 11 1 0.000 0
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10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 12 1 0.000 1
2 6 11 1 0.000 1
3 6 11 1 0.000 1
4 6 12 1 0.000 1
5 6 11 1 0.000 1
6 6 13 2 0.000 1
7 6 12 2 0.000 3
8 6 12 1 0.000 2
9 6 11 1 0.000 1
10 6 12 1 0.000 1
11 6 12 1 0.000 1
12 6 10 1 0.000 1
13 6 11 1 0.000 1
14 6 11 1 0.000 1
15 6 11 1 0.000 1
16 6 10 1 0.000 1
17 6 10 1 0.000 3
18 6 10 1 0.000 2
19 6 11 1 0.000 1
20 6 11 1 0.000 1
21 6 11 1 0.000 1
22 6 10 1 0.000 1
23 6 11 1 0.000 1
24 6 12 1 0.000 1
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10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 5 12 2 0.000 0
2 6 11 2 0.000 0
3 6 11 2 0.000 0
4 6 14 2 0.000 0
5 6 10 2 0.000 0
6 6 11 2 0.000 0
7 6 11 2 0.000 0
8 6 14 2 0.000 0
9 6 13 1 0.000 0
10 6 11 2 0.000 0
11 6 10 2 0.000 0
12 6 11 1 0.000 0
13 6 10 1 0.000 0
14 6 11 1 0.000 0
15 6 10 1 0.000 0
16 6 10 1 0.000 0
17 5 11 1 0.000 0
18 5 10 1 0.000 0
19 5 10 1 0.000 0
20 5 10 1 0.000 0
21 4 12 1 0.000 0
22 5 13 1 0.000 0
23 6 12 2 0.000 0
24 6 11 2 0.000 0
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10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 11 1 0.000 1
2 6 11 1 0.000 1
3 6 11 1 0.000 1
4 6 13 1 0.000 1
5 6 9 1 0.000 1
6 6 11 1 0.000 1
7 6 11 1 0.000 1
8 6 10 1 0.000 1
9 5 9 1 0.000 1
10 6 10 1 0.000 1
11 6 10 1 0.000 1
12 6 10 1 0.000 1
13 6 10 1 0.000 1
14 6 10 1 0.000 1
15 6 9 2 0.000 1
16 6 11 1 0.000 1
17 6 10 1 0.000 1
18 6 10 1 0.000 1
19 6 11 1 0.000 2
20 6 13 1 0.000 1
21 6 12 1 0.000 1
22 6 10 1 0.000 1
23 6 10 1 0.000 1
24 6 10 1 0.000 1
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10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 5 10 1 0.000 0
2 5 12 1 0.000 0
3 5 12 1 0.000 0
4 5 11 1 0.000 0
5 5 12 1 0.000 0
6 6 11 1 0.000 0
7 6 10 1 0.000 0
8 8 10 2 0.000 0
9 3 11 1 0.000 0
10 3 10 1 0.000 0
11 4 12 1 0.000 0
12 3 10 1 0.000 0
13 3 11 1 0.000 0
14 4 10 1 0.000 0
15 4 11 1 0.000 0
16 4 10 1 0.000 0
17 5 11 1 0.000 0
18 5 11 1 0.000 0
19 4 12 1 0.000 0
20 4 12 1 0.000 0
21 4 12 1 0.000 0
22 4 9 1 0.000 0
23 4 12 1 0.000 0
24 5 10 1 0.000 0
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10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 10 1 0.000 1
2 6 11 1 0.000 1
3 6 12 1 0.000 1
4 6 12 1 0.000 1
5 6 11 1 0.000 1
6 6 12 1 0.000 1
7 6 13 1 0.000 1
8 6 11 1 0.000 1
9 6 10 1 0.000 0
10 6 14 1 0.000 1
11 6 11 1 0.000 0
12 6 13 1 0.000 0
13 6 12 1 0.000 0
14 6 9 1 0.000 1
15 6 13 1 0.000 1
16 6 8 1 0.000 0
17 6 4 1 0.000 0
18 6 8 1 0.000 0
19 6 12 1 0.000 1
20 6 10 1 0.000 0
21 6 11 1 0.000 0
22 6 10 1 0.000 0
23 6 11 1 0.000 0
24 6 11 1 0.000 0
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10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 5 12 1 0.000 0
2 4 11 1 0.000 0
3 4 11 1 0.000 0
4 5 10 1 0.000 0
5 6 12 2 0.000 0
6 6 11 2 0.000 0
7 5 11 1 0.000 0
8 5 11 1 0.000 0
9 5 12 1 0.000 0
10 5 12 1 0.000 0
11 6 12 2 0.000 0
12 6 11 1 0.000 0
13 6 12 2 0.000 0
14 6 11 2 0.000 0
15 6 11 1 0.000 0
16 6 11 1 0.000 0
17 5 9 1 0.000 0
18 5 10 1 0.000 0
19 6 9 1 0.000 0
20 6 10 1 0.000 0
21 6 11 1 0.000 0
22 6 12 1 0.000 0
23 5 11 1 0.000 0
24 5 12 1 0.000 0
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10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 10 1 0.000 0
2 6 10 1 0.000 0
3 6 10 1 0.000 0
4 6 10 1 0.000 0
5 5 11 1 0.000 0
6 6 11 1 0.000 0
7 6 11 1 0.000 0
8 6 11 1 0.000 0
9 6 12 1 0.000 0
10 6 11 1 0.000 0
11 6 11 1 0.000 0
12 6 12 1 0.000 0
13 6 10 1 0.000 0
14 6 11 1 0.000 0
15 6 11 1 0.000 0
16 6 10 1 0.000 0
17 5 10 1 0.000 0
18 6 9 1 0.000 0
19 5 10 1 0.000 0
20 5 11 1 0.000 0
21 5 10 1 0.000 0
22 5 10 1 0.000 0
23 3 9 0 0.000 0
24 4 10 0 0.000 0
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10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 6 12 1 0.000 0
2 6 11 1 0.000 0
3 6 12 1 0.000 0
4 6 11 1 0.000 0
5 5 13 1 0.000 0
6 5 11 1 0.000 0
7 6 13 1 0.000 0
8 4 11 1 0.000 0
9 4 11 1 0.000 0
10 5 11 1 0.000 0
11 6 11 1 0.000 0
12 5 10 1 0.000 0
13 5 11 1 0.000 0
14 5 10 1 0.000 0
15 5 12 1 0.000 0
16 4 11 1 0.000 0
17 3 9 1 0.000 0
18 3 9 1 0.000 0
19 3 9 1 0.000 0
20 2 10 1 0.000 0
21 2 11 1 0.000 0
22 3 11 1 0.000 0
23 3 10 1 0.000 0
24 3 10 1 0.000 0
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10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 4 10 0 0.000 0
2 4 10 1 0.000 0
3 4 10 1 0.000 0
4 4 11 1 0.000 0
5 5 10 1 0.000 0
6 6 11 1 0.000 0
7 6 12 1 0.000 0
8 6 10 1 0.000 0
9 6 11 1 0.000 0
10 5 10 1 0.000 0
11 5 11 1 0.000 0
12 6 11 1 0.000 0
13 6 11 2 0.000 0
14 6 11 1 0.000 0
15 6 11 1 0.000 0
16 6 11 1 0.000 0
17 6 10 1 0.000 6
18 6 12 1 0.000 3
19 6 11 1 0.000 2
20 6 12 1 0.000 2
21 6 13 1 0.000 1
22 6 11 1 0.000 2
23 6 11 1 0.000 1
24 6 10 1 0.000 1
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10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 3 9 1 0.000 0
2 2 12 1 0.000 0
3 2 12 1 0.000 0
4 2 9 1 0.000 0
5 2 12 1 0.000 0
6 3 11 1 0.000 0
7 2 12 1 0.000 0
8 2 14 1 0.000 0
9 2 12 1 0.000 0
10 4 10 1 0.000 0
11 6 11 1 0.000 0
12 6 11 2 0.000 0
13 6 11 2 0.000 0
14 6 13 2 0.000 0
15 6 11 2 0.000 0
16 6 13 2 0.000 0
17 6 11 2 0.000 0
18 6 13 2 0.000 0
19 6 12 2 0.000 0
20 6 11 2 0.000 0
21 6 12 2 0.000 0
22 6 10 2 0.000 0
23 6 10 2 0.000 0
24 6 10 1 0.000 0
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10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 11 1 0.000 1
2 6 11 1 0.000 1
3 6 10 1 0.000 1
4 6 11 1 0.000 1
5 6 14 1 0.000 1
6 6 10 1 0.000 1
7 6 12 1 0.000 1
8 6 11 1 0.000 1
9 6 11 1 0.000 1
10 6 10 1 0.000 1
11 6 10 1 0.000 2
12 6 12 1 0.000 4
13 6 10 1 0.000 2
14 6 11 1 0.000 2
15 6 9 1 0.000 2
16 6 12 1 0.000 1
17 6 10 1 0.000 1
18 6 10 1 0.000 1
19 6 10 1 0.000 1
20 6 12 1 0.000 1
21 6 11 1 0.000 1
22 6 10 1 0.000 1
23 6 10 1 0.000 1
24 6 10 1 0.000 1
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10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 6 11 2 0.000 0
2 6 10 2 0.000 1
3 6 11 2 0.000 0
4 6 12 2 0.000 0
5 6 14 1 0.000 0
6 6 11 1 0.000 0
7 6 11 1 0.000 0
8 6 12 1 0.000 0
9 6 14 1 0.000 0
10 6 13 1 0.000 0
11 6 12 1 0.000 0
12 6 11 1 0.000 0
13 6 13 1 0.000 0
14 6 13 1 0.000 0
15 6 13 1 0.000 0
16 6 12 1 0.000 0
17 6 12 1 0.000 0
18 6 12 1 0.000 0
19 6 11 1 0.000 0
20 6 11 1 0.000 0
21 6 12 1 0.000 0
22 6 11 1 0.000 0
23 6 12 1 0.000 0
24 6 11 1 0.000 0
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10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 10 1 0.000 1
2 6 10 1 0.000 1
3 6 10 1 0.000 1
4 6 11 1 0.000 1
5 6 10 1 0.000 1
6 6 10 1 0.000 1
7 6 10 1 0.000 1
8 6 10 1 0.000 1
9 6 12 1 0.000 1
10 6 10 1 0.000 1
11 6 12 1 0.000 1
12 6 12 1 0.000 1
13 6 11 1 0.000 1
14 6 11 1 0.000 1
15 6 11 1 0.000 1
16 6 11 1 0.000 1
17 6 10 1 0.000 1
18 6 11 1 0.000 1
19 6 10 1 0.000 1
20 6 11 1 0.000 1
21 6 10 1 0.000 1
22 6 11 1 0.000 1
23 6 11 1 0.000 2
24 6 10 1 0.000 2

B EREE
RS E

Ik

>k
=

\
/

5 _ 254F

iﬁ = it (i
= = Z‘Z éﬁ;i Ly X
7K 1t 1t C R

E A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 6 11 1 0.000 0
2 6 12 1 0.000 0
3 6 12 2 0.000 0
4 6 13 1 0.000 0
5 6 11 1 0.000 0
6 6 10 1 0.000 0
7 6 11 1 0.000 0
8 6 12 1 0.000 0
9 6 12 1 0.000 0
10 6 11 1 0.000 0
11 6 11 1 0.000 0
12 6 11 1 0.000 0
13 6 11 2 0.000 0
14 6 11 1 0.000 0
15 6 11 1 0.000 0
16 6 10 2 0.000 0
17 6 11 2 0.000 0
18 6 11 2 0.000 0
19 6 10 1 0.000 0
20 6 11 1 0.000 0
21 6 10 1 0.000 0
22 6 11 1 0.000 0
23 6 11 1 0.000 0
24 6 12 1 0.000 0
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10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 10 1 0.000 2
2 6 14 1 0.000 2
3 6 12 1 0.000 2
4 6 12 1 0.000 1
5 6 11 1 0.000 1
6 6 11 1 0.000 1
7 6 11 1 0.000 1
8 6 13 1 0.000 1
9 6 11 1 0.000 1
10 6 10 1 0.000 1
11 6 11 1 0.000 1
12 6 10 1 0.000 1
13 6 10 1 0.000 1
14 6 11 1 0.000 1
15 6 11 1 0.000 1
16 6 10 1 0.000 1
17 6 10 1 0.000 1
18 6 12 1 0.000 1
19 6 11 1 0.000 1
20 6 10 1 0.000 1
21 6 10 1 0.000 1
22 6 13 1 0.000 1
23 6 5 1 0.000 1
24 6 9 1 0.000 1
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10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 6 12 1 0.000 0
2 6 10 1 0.000 0
3 6 11 1 0.000 0
4 6 10 1 0.000 0
5 6 12 1 0.000 0
6 6 12 1 0.000 0
7 6 12 1 0.000 0
8 6 12 1 0.000 0
9 6 10 1 0.000 0
10 6 12 1 0.000 0
11 6 11 1 0.000 0
12 6 10 1 0.000 0
13 6 11 2 0.000 0
14 5 11 1 0.000 0
15 5 12 1 0.000 0
16 6 12 2 0.000 0
17 6 10 2 0.000 0
18 6 12 2 0.000 0
19 6 11 2 0.000 0
20 6 10 1 0.000 0
21 6 11 1 0.000 0
22 6 11 1 0.000 0
23 6 11 1 0.000 0
24 6 11 1 0.000 0
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10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 13 1 0.000 1
2 6 9 1 0.000 1
3 6 12 1 0.000 1
4 6 10 1 0.000 1
5 6 11 1 0.000 1
6 6 11 1 0.000 1
7 6 12 1 0.000 1
8 6 9 1 0.000 1
9 6 11 1 0.000 1
10 6 10 1 0.000 1
11 6 12 1 0.000 1
12 6 11 1 0.000 1
13 6 14 1 0.000 1
14 6 11 1 0.000 1
15 6 10 1 0.000 1
16 6 10 1 0.000 0
17 6 11 1 0.000 1
18 6 10 1 0.000 0
19 6 10 1 0.000 0
20 6 10 1 0.000 0
21 6 11 1 0.000 0
22 6 12 1 0.000 0
23 6 10 1 0.000 0
24 6 11 1 0.000 0

B EREE
RS E

Ik

>k
=

\
/

5 _ 254F

iﬁ = it (i
= = Z‘Z éﬁ;i Ly X
7K 1t 1t C R

E A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 6 11 1 0.000 0
2 6 11 1 0.000 0
3 6 11 1 0.000 0
4 6 11 1 0.000 0
5 6 12 1 0.000 0
6 6 10 2 0.000 0
7 6 13 1 0.000 0
8 6 10 1 0.000 0
9 6 11 1 0.000 0
10 6 10 1 0.000 0
11 6 11 1 0.000 0
12 6 10 1 0.000 0
13 5 10 1 0.000 0
14 5 11 1 0.000 0
15 5 10 1 0.000 0
16 6 11 1 0.000 0
17 6 12 1 0.000 0
18 6 10 1 0.000 0
19 5 11 1 0.000 0
20 4 11 1 0.000 0
21 4 10 1 0.000 0
22 4 11 1 0.000 0
23 4 12 1 0.000 0
24 4 12 1 0.000 0
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10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 11 1 0.000 0
2 6 10 1 0.000 0
3 6 12 1 0.000 0
4 6 11 1 0.000 0
5 6 11 1 0.000 0
6 6 11 1 0.000 0
7 6 11 1 0.000 0
8 6 12 1 0.000 0
9 6 11 1 0.000 0
10 6 11 1 0.000 0
11 6 9 1 0.000 0
12 6 11 1 0.000 0
13 6 10 1 0.000 0
14 6 11 1 0.000 0
15 6 10 1 0.000 0
16 6 10 1 0.000 0
17 6 10 1 0.000 0
18 5 10 1 0.000 0
19 6 11 1 0.000 0
20 6 11 1 0.000 0
21 6 9 1 0.000 0
22 6 10 1 0.000 0
23 6 10 1 0.000 0
24 6 11 1 0.000 0
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10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 4 12 1 0.000 0
2 5 12 1 0.000 0
3 5 12 1 0.000 0
4 5 12 1 0.000 0
5 5 12 1 0.000 0
6 5 11 1 0.000 0
7 5 11 1 0.000 0
8 6 13 1 0.000 0
9 5 12 1 0.000 0
10 5 13 1 0.000 0
11 6 8 1 0.000 0
12 5 14 1 0.000 0
13 5 12 1 0.000 0
14 5 14 1 0.000 0
15 5 10 1 0.000 0
16 4 14 1 0.000 0
17 3 11 1 0.000 0
18 3 11 1 0.000 0
19 3 11 1 0.000 0
20 3 11 1 0.000 0
21 3 11 1 0.000 0
22 4 12 1 0.000 0
23 3 9 1 0.000 0
24 3 10 1 0.000 0
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10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 5 10 1 0.000 0
2 6 12 1 0.000 0
3 5 10 1 0.000 0
4 5 9 1 0.000 0
5 6 11 1 0.000 0
6 6 10 1 0.000 0
7 6 10 1 0.000 0
8 6 10 1 0.000 0
9 6 11 1 0.000 0
10 6 10 1 0.000 0
11 5 10 1 0.000 0
12 5 12 1 0.000 0
13 5 12 1 0.000 0
14 5 11 1 0.000 0
15 5 10 1 0.000 0
16 6 11 1 0.000 0
17 6 10 1 0.000 0
18 6 13 1 0.000 0
19 6 11 1 0.000 0
20 6 10 1 0.000 0
21 6 13 1 0.000 0
22 6 12 1 0.000 0
23 6 11 1 0.000 0
24 6 11 1 0.000 0
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10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 3 10 1 0.000 0
2 3 10 1 0.000 0
3 2 10 1 0.000 0
4 3 10 1 0.000 0
5 3 10 1 0.000 0
6 3 11 1 0.000 0
7 3 11 1 0.000 0
8 3 10 1 0.000 0
9 3 11 1 0.000 0
10 3 10 1 0.000 0
11 3 11 1 0.000 0
12 3 11 1 0.000 0
13 3 11 1 0.000 0
14 2 10 1 0.000 0
15 2 12 1 0.000 0
16 3 10 1 0.000 0
17 2 11 1 0.000 0
18 3 11 1 0.000 0
19 3 11 1 0.000 0
20 3 12 1 0.000 0
21 3 10 1 0.000 0
22 3 10 1 0.000 0
23 3 12 1 0.000 0
24 3 11 1 0.000 0
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10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 10 1 0.000 0
2 6 10 1 0.000 0
3 6 10 1 0.000 0
4 5 11 1 0.000 0
5 6 11 1 0.000 0
6 6 8 1 0.000 0
7 6 12 1 0.000 0
8 6 11 1 0.000 0
9 6 11 1 0.000 0
10 6 10 1 0.000 0
11 6 10 1 0.000 0
12 5 10 1 0.000 0
13 5 11 1 0.000 0
14 5 10 1 0.000 0
15 5 11 1 0.000 0
16 5 10 1 0.000 0
17 6 11 1 0.000 0
18 6 10 1 0.000 0
19 6 10 1 0.000 0
20 6 10 1 0.000 0
21 6 12 1 0.000 0
22 6 12 1 0.000 0
23 6 12 1 0.000 0
24 6 12 1 0.000 0
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E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 3 11 1 0.000 0
2 2 10 1 0.000 0
3 3 13 1 0.000 0
4 3 11 1 0.000 0
5 3 12 1 0.000 0
6 3 10 1 0.000 0
7 3 11 1 0.000 0
8 3 13 1 0.000 0
9 2 12 1 0.000 0
10 3 13 1 0.000 0
11 3 12 1 0.000 0
12 3 11 1 0.000 0
13 3 11 1 0.000 0
14 3 11 1 0.000 0
15 3 11 1 0.000 0
16 3 12 1 0.000 0
17 3 13 1 0.000 0
18 3 11 1 0.000 0
19 3 11 1 0.000 0
20 3 13 1 0.000 0
21 3 12 1 0.000 0
22 4 12 1 0.000 0
23 4 12 1 0.000 0
24 4 11 1 0.000 0
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ERNBERREEES TR AU
o i# o
20235128 15H (%)
15 1547
i £ o &
=] 1k ZZ E%% L 7K
K 1t 1t C R
* A
) )
E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 12 1 0.000 0
2 6 11 1 0.000 0
3 6 10 1 0.000 0
4 6 11 1 0.000 0
5 6 11 1 0.000 0
6 6 11 1 0.000 0
7 6 11 1 0.000 0
8 6 11 1 0.000 0
9 6 12 1 0.000 0
10 6 11 1 0.000 0
11 6 10 1 0.000 0
12 6 12 1 0.000 0
13 6 11 1 0.000 0
14 6 12 1 0.000 0
15 4 11 0 0.000 0
16 5 13 1 0.000 0
17 6 10 1 0.000 0
18 6 12 1 0.000 0
19 6 11 1 0.000 0
20 6 13 1 0.000 0
21 6 11 1 0.000 0
22 6 10 1 0.000 0
23 6 12 1 0.000 0
24 6 10 1 0.000 0
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E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 4 12 1 0.000 0
2 4 11 1 0.000 0
3 4 13 1 0.000 0
4 4 11 1 0.000 0
5 4 13 1 0.000 0
6 4 11 1 0.000 0
7 4 11 1 0.000 0
8 5 12 1 0.000 0
9 5 13 1 0.000 0
10 5 12 1 0.000 0
11 5 11 1 0.000 0
12 4 10 1 0.000 0
13 4 11 1 0.000 0
14 3 12 1 0.000 0
15 3 15 1 0.000 0
16 4 11 1 0.000 0
17 4 12 1 0.000 0
18 4 11 1 0.000 0
19 4 10 1 0.000 0
20 5 12 1 0.000 0
21 5 13 1 0.000 0
22 5 11 1 0.000 0
23 5 13 1 0.000 0
24 5 11 1 0.000 0
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ERNBERREEES TR AU
o i# o
20235128 16H ()
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i £ o &
=] 1k ZZ E%% L 7K
K 1t 1t C R
* A
) )
E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 10 1 0.000 0
2 6 11 1 0.000 0
3 6 11 1 0.000 0
4 6 12 1 0.000 0
5 6 11 1 0.000 0
6 6 13 1 0.000 0
7 6 12 1 0.000 0
8 6 10 1 0.000 0
9 6 12 1 0.000 0
10 6 12 1 0.000 0
11 6 11 1 0.000 0
12 6 10 1 0.000 0
13 6 11 1 0.000 0
14 6 10 1 0.000 0
15 6 10 1 0.000 0
16 6 11 1 0.000 0
17 6 10 1 0.000 0
18 6 12 1 0.000 0
19 6 10 1 0.000 0
20 6 11 1 0.000 0
21 6 10 1 0.000 0
22 6 10 1 0.000 0
23 6 10 1 0.000 0
24 5 10 1 0.000 0
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E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 5 12 1 0.000 0
2 6 12 2 0.000 0
3 5 10 1 0.000 0
4 5 11 1 0.000 0
5 5 14 1 0.000 0
6 6 14 1 0.000 0
7 5 12 1 0.000 0
8 5 10 1 0.000 0
9 5 14 1 0.000 0
10 5 12 1 0.000 0
11 5 14 1 0.000 0
12 4 12 1 0.000 0
13 4 12 1 0.000 0
14 4 12 1 0.000 0
15 4 11 1 0.000 0
16 4 12 1 0.000 0
17 3 11 1 0.000 0
18 3 11 1 0.000 0
19 3 11 1 0.000 0
20 3 11 1 0.000 0
21 3 11 1 0.000 0
22 3 10 1 0.000 0
23 3 12 1 0.000 0
24 3 11 1 0.000 0
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ERNBERREEES TR AU
o i# o
20235128 17H (H)
15 1547
i £ o &
=] 1k ZZ E%% L 7K
K 1t 1t C R
* A
) )
E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 10 1 0.000 0
2 6 10 1 0.000 0
3 5 11 1 0.000 0
4 5 10 1 0.000 0
5 6 10 1 0.000 0
6 5 10 1 0.000 0
7 6 11 1 0.000 0
8 5 10 1 0.000 0
9 5 12 1 0.000 0
10 4 10 1 0.000 0
11 4 10 1 0.000 0
12 4 10 1 0.000 1
13 4 11 1 0.000 1
14 4 11 0 0.000 1
15 4 10 1 0.000 1
16 4 10 1 0.000 1
17 4 10 0 0.000 1
18 3 11 0 0.000 1
19 3 10 0 0.000 1
20 3 11 0 0.000 1
21 3 10 0 0.000 0
22 3 11 0 0.000 0
23 3 11 0 0.000 0
24 2 11 0 0.000 0
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E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 3 11 1 0.000 0
2 2 9 1 0.000 0
3 2 12 1 0.000 0
4 2 10 1 0.000 0
5 2 11 1 0.000 0
6 2 10 1 0.000 0
7 2 12 1 0.000 0
8 2 10 1 0.000 0
9 2 11 1 0.000 0
10 2 10 1 0.000 0
11 2 10 1 0.000 0
12 2 11 1 0.000 0
13 2 10 1 0.000 0
14 2 10 1 0.000 0
15 2 11 1 0.000 0
16 2 10 1 0.000 0
17 2 12 1 0.000 0
18 2 12 1 0.000 0
19 2 14 1 0.000 0
20 2 12 1 0.000 0
21 2 11 1 0.000 0
22 2 12 1 0.000 0
23 2 11 1 0.000 0
24 2 11 1 0.000 0
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ERNBERREEES TR AU
o i# o
20235128 18H (A)
15 1547
i £ o &
=] 1k ZZ E%% L 7K
K 1t 1t C R
* A
) )
E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 3 11 0 0.000 0
2 3 12 0 0.000 0
3 2 10 0 0.000 0
4 2 10 0 0.000 0
5 2 10 0 0.000 0
6 2 10 0 0.000 0
7 2 10 0 0.000 0
8 2 10 0 0.000 0
9 2 10 0 0.000 0
10 3 12 0 0.000 0
11 4 11 1 0.000 0
12 4 11 1 0.000 0
13 4 10 0 0.000 0
14 5 10 1 0.000 0
15 4 10 0 0.000 0
16 5 14 0 0.000 0
17 5 6 1 0.000 0
18 6 10 1 0.000 0
19 6 10 1 0.000 0
20 6 11 1 0.000 0
21 6 11 1 0.000 0
22 6 11 1 0.000 0
23 6 12 1 0.000 0
24 5 9 1 0.000 0
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E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 2 12 1 0.000 0
2 2 13 1 0.000 0
3 2 11 1 0.000 0
4 2 10 1 0.000 0
5 2 11 1 0.000 0
6 2 10 1 0.000 0
7 2 11 1 0.000 0
8 2 10 1 0.000 0
9 2 12 1 0.000 0
10 3 10 1 0.000 0
11 4 11 1 0.000 0
12 4 12 1 0.000 0
13 5 11 1 0.000 0
14 5 11 1 0.000 0
15 4 10 1 0.000 0
16 5 10 1 0.000 0
17 5 11 1 0.000 0
18 5 11 1 0.000 0
19 5 10 1 0.000 0
20 6 10 1 0.000 0
21 5 9 1 0.000 0
22 6 11 1 0.000 0
23 5 10 1 0.000 0
24 5 10 1 0.000 0
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ERNBERREEES TR AU
o i# o
2023%12H19H ()
15 1547
i £ o &
=] 1k ZZ E%% L 7K
K 1t 1t C R
* A
) )
E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 12 1 0.000 0
2 6 10 1 0.000 0
3 6 11 1 0.000 0
4 6 9 1 0.000 0
5 6 11 1 0.000 0
6 6 11 1 0.000 0
7 6 13 1 0.000 0
8 6 13 1 0.000 0
9 6 11 1 0.000 0
10 5 10 1 0.000 0
11 6 12 1 0.000 0
12 6 11 1 0.000 0
13 6 11 1 0.000 0
14 6 10 1 0.000 0
15 6 10 1 0.000 0
16 5 11 1 0.000 0
17 5 11 1 0.000 0
18 5 11 1 0.000 0
19 5 11 1 0.000 0
20 6 12 1 0.000 0
21 6 11 1 0.000 0
22 5 11 1 0.000 0
23 6 12 1 0.000 0
24 6 12 1 0.000 0
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E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 6 12 1 0.000 0
2 6 10 1 0.000 0
3 5 11 1 0.000 0
4 6 10 1 0.000 0
5 6 11 1 0.000 0
6 6 10 1 0.000 0
7 6 10 1 0.000 0
8 6 10 1 0.000 0
9 6 10 1 0.000 0
10 6 12 1 0.000 0
11 6 12 1 0.000 0
12 6 14 1 0.000 0
13 6 12 2 0.000 0
14 5 11 1 0.000 0
15 5 12 1 0.000 0
16 6 11 1 0.000 0
17 5 11 1 0.000 0
18 4 11 1 0.000 0
19 4 11 1 0.000 0
20 4 11 1 0.000 0
21 4 12 1 0.000 0
22 4 14 1 0.000 0
23 5 12 1 0.000 0
24 5 12 1 0.000 0
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ERNBERREEES TR AU
o i# o
20235128 20H (7K)
15 1547
i £ o &
=] 1k ZZ E%% L 7K
K 1t 1t C R
* A
) )
E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 12 1 0.000 0
2 6 12 1 0.000 0
3 6 11 1 0.000 0
4 6 10 1 0.000 0
5 6 11 1 0.000 0
6 6 10 1 0.000 0
7 6 12 1 0.000 0
8 6 10 1 0.000 0
9 5 10 1 0.000 0
10 6 10 1 0.000 0
11 6 11 1 0.000 0
12 6 12 1 0.000 0
13 6 13 1 0.000 0
14 6 10 1 0.000 0
15 6 10 1 0.000 0
16 6 11 1 0.000 0
17 6 10 1 0.000 0
18 6 10 1 0.000 0
19 6 10 1 0.000 0
20 6 10 1 0.000 0
21 6 11 1 0.000 0
22 6 12 1 0.000 0
23 6 10 1 0.000 0
24 6 11 1 0.000 0
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E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 6 12 1 0.000 0
2 5 14 1 0.000 0
3 4 10 1 0.000 0
4 6 10 1 0.000 0
5 6 11 1 0.000 0
6 5 12 1 0.000 0
7 5 10 1 0.000 0
8 5 11 1 0.000 0
9 4 11 1 0.000 0
10 5 13 1 0.000 0
11 5 12 1 0.000 0
12 5 13 1 0.000 0
13 5 11 1 0.000 0
14 5 12 1 0.000 0
15 4 12 1 0.000 0
16 4 11 1 0.000 0
17 4 12 1 0.000 0
18 4 11 1 0.000 0
19 3 11 1 0.000 0
20 4 11 1 0.000 0
21 4 12 1 0.000 0
22 5 12 1 0.000 0
23 4 10 1 0.000 0
24 4 12 1 0.000 0
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ERNBERREEES TR AU
o i# o
2023%12H21H (XK)
15 1547
i £ o &
=] 1k ZZ E%% L 7K
K 1t 1t C R
* A
) )
E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 10 1 0.000 0
2 6 10 1 0.000 0
3 6 11 1 0.000 0
4 6 10 1 0.000 0
5 5 12 1 0.000 0
6 6 12 1 0.000 0
7 6 10 1 0.000 0
8 5 10 1 0.000 0
9 4 11 0 0.000 0
10 5 9 1 0.000 0
11 6 12 1 0.000 0
12 6 11 1 0.000 0
13 6 14 1 0.000 0
14 6 11 1 0.000 0
15 6 12 1 0.000 0
16 6 13 1 0.000 0
17 6 11 1 0.000 0
18 6 11 1 0.000 0
19 6 12 1 0.000 0
20 6 11 1 0.000 0
21 5 11 1 0.000 0
22 4 10 1 0.000 0
23 6 11 1 0.000 0
24 6 10 1 0.000 0
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E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 3 12 1 0.000 0
2 3 11 1 0.000 0
3 3 10 1 0.000 0
4 3 12 1 0.000 0
5 3 12 1 0.000 0
6 3 10 1 0.000 0
7 3 14 1 0.000 0
8 4 12 1 0.000 0
9 4 13 1 0.000 0
10 4 11 1 0.000 0
11 5 13 1 0.000 0
12 6 13 1 0.000 0
13 6 10 1 0.000 0
14 6 11 1 0.000 0
15 6 14 1 0.000 0
16 5 12 1 0.000 0
17 5 12 1 0.000 0
18 5 10 1 0.000 0
19 5 10 1 0.000 0
20 4 10 1 0.000 0
21 4 11 1 0.000 0
22 3 11 1 0.000 0
23 5 14 1 0.000 0
24 4 8 1 0.000 0
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o i# o
20235128 22H (%)
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) )
E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 12 1 0.000 0
2 6 12 1 0.000 0
3 6 12 1 0.000 0
4 6 12 1 0.000 0
5 6 10 1 0.000 0
6 6 11 1 0.000 0
7 6 12 1 0.000 0
8 6 10 1 0.000 0
9 6 10 1 0.000 0
10 6 11 1 0.000 0
11 6 11 1 0.000 0
12 6 11 1 0.000 0
13 6 11 1 0.000 0
14 6 10 1 0.000 0
15 6 13 1 0.000 0
16 6 14 1 0.000 0
17 6 11 1 0.000 0
18 6 14 1 0.000 0
19 6 10 1 0.000 0
20 6 12 1 0.000 0
21 6 11 1 0.000 0
22 6 11 1 0.000 0
23 6 10 1 0.000 0
24 6 11 1 0.000 0
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E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
%l 430 250 12700 0.040 50
1 5 10 1 0.000 0
2 4 13 1 0.000 0
3 6 13 1 0.000 0
4 5 12 1 0.000 0
5 5 11 1 0.000 0
6 6 14 1 0.000 0
7 6 13 1 0.000 0
8 6 13 1 0.000 0
9 5 10 1 0.000 0
10 6 13 2 0.000 0
11 6 11 1 0.000 0
12 5 11 1 0.000 0
13 4 10 1 0.000 0
14 5 10 1 0.000 0
15 6 13 1 0.000 0
16 6 13 1 0.000 0
17 5 12 1 0.000 0
18 5 13 1 0.000 0
19 5 14 1 0.000 0
20 5 11 1 0.000 0
21 6 12 1 0.000 0
22 5 11 1 0.000 0
23 6 13 1 0.000 0
24 6 11 1 0.000 0
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ERNBERREEES TR AU
o i# o
2023512 H23H ()
15 1547
i £ o &
=] 1k i ; L 7K
K 1t 1t C R
* A
) )
E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 10 1 0.000 0
2 6 11 1 0.000 0
3 6 10 1 0.000 0
4 6 11 1 0.000 0
5 6 11 1 0.000 0
6 6 12 1 0.000 0
7 6 11 1 0.000 0
8 6 13 1 0.000 0
9 6 11 1 0.000 0
10 6 11 1 0.000 0
11 6 12 1 0.000 0
12 6 10 1 0.000 0
13 6 11 1 0.000 0
14 6 11 1 0.000 0
15 6 10 1 0.000 0
16 6 12 1 0.000 0
17 6 11 1 0.000 0
18 6 10 1 0.000 0
19 6 10 1 0.000 0
20 6 10 1 0.000 0
21 6 12 1 0.000 0
22 6 10 1 0.000 0
23 6 10 1 0.000 0
24 6 11 1 0.000 0
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ERNBERREEES TR AU
o i# o
2023512 A 24H (H)
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i £ o &
=] 1k ZZ E%% L 7K
K 1t 1t C R
* A
) )
E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 9 1 0.000 0
2 6 12 1 0.000 0
3 6 10 1 0.000 0
4 6 10 1 0.000 0
5 6 10 1 0.000 0
6 6 10 1 0.000 0
7 5 10 1 0.000 0
8 5 10 1 0.000 0
9 5 11 1 0.000 0
10 5 10 1 0.000 0
11 5 10 1 0.000 0
12 5 11 1 0.000 0
13 5 10 1 0.000 0
14 6 10 1 0.000 0
15 6 11 1 0.000 0
16 5 10 1 0.000 0
17 6 10 1 0.000 0
18 6 10 1 0.000 0
19 6 10 1 0.000 0
20 6 12 1 0.000 0
21 6 11 1 0.000 0
22 6 11 1 0.000 0
23 6 10 1 0.000 0
24 6 11 1 0.000 0
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E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 5 11 1 0.000 0
2 6 11 1 0.000 0
3 6 10 1 0.000 0
4 6 10 1 0.000 0
5 6 11 1 0.000 0
6 5 12 1 0.000 0
7 6 13 1 0.000 0
8 6 14 1 0.000 0
9 6 13 1 0.000 0
10 6 9 1 0.000 0
11 5 12 1 0.000 0
12 6 11 1 0.000 0
13 6 12 1 0.000 0
14 6 11 1 0.000 0
15 6 10 1 0.000 0
16 6 10 1 0.000 0
17 6 10 1 0.000 1
18 5 11 1 0.000 0
19 5 12 0 0.000 0
20 6 11 1 0.000 0
21 6 13 1 0.000 0
22 6 12 1 0.000 0
23 5 13 1 0.000 0
24 5 10 1 0.000 0
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ERNBERREEES TR AU
o i# o
2023512 H26H ()
15 1547
i £ o &
=] 1k ZZ E%% L 7K
K 1t 1t C R
* A
) )
E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 5 13 1 0.000 0
2 5 16 1 0.000 0
3 4 8 1 0.000 0
4 5 11 1 0.000 0
5 5 12 1 0.000 0
6 6 12 1 0.000 0
7 5 10 1 0.000 0
8 5 11 1 0.000 0
9 6 11 1 0.000 0
10 6 11 1 0.000 0
11 6 11 1 0.000 0
12 6 11 1 0.000 0
13 6 10 1 0.000 0
14 6 10 1 0.000 0
15 6 10 1 0.000 0
16 6 12 1 0.000 0
17 6 10 1 0.000 0
18 6 10 1 0.000 0
19 6 11 1 0.000 0
20 6 10 1 0.000 0
21 6 11 1 0.000 0
22 6 10 1 0.000 0
23 6 11 1 0.000 0
24 6 11 1 0.000 0
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ERNBERREEES TR AU
o i# o
20235128 27H (7K)
15 1547
i £ o &
=] 1k ZZ E%% L 7K
K 1t 1t C R
* A
) )
E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 12 1 0.000 0
2 5 11 1 0.000 0
3 6 12 1 0.000 0
4 5 11 1 0.000 0
5 6 11 1 0.000 0
6 5 10 1 0.000 0
7 6 11 1 0.000 0
8 6 9 1 0.000 0
9 5 11 1 0.000 0
10 5 10 1 0.000 0
11 5 11 1 0.000 0
12 6 12 1 0.000 0
13 5 10 1 0.000 0
14 6 11 1 0.000 0
15 5 10 1 0.000 0
16 5 10 1 0.000 0
17 5 11 1 0.000 0
18 5 10 1 0.000 0
19 5 10 1 0.000 0
20 6 11 1 0.000 0
21 5 10 1 0.000 0
22 5 10 1 0.000 0
23 5 9 1 0.000 0
24 5 9 1 0.000 0
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ERNBERREEES TR AU
o i# o
2023512 H28H (XK)
15 1547
i £ o &
=] 1k ZZ E%% L 7K
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E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 6 11 1 0.000 0
2 6 10 1 0.000 0
3 5 10 1 0.000 0
4 6 12 1 0.000 0
5 6 10 1 0.000 0
6 6 11 1 0.000 0
7 6 10 1 0.000 0
8 6 11 1 0.000 0
9 5 10 1 0.000 0
10 5 11 1 0.000 0
11 5 9 1 0.000 0
12 6 11 1 0.000 0
13 6 12 1 0.000 0
14 6 11 1 0.000 0
15 6 10 1 0.000 0
16 6 12 1 0.000 0
17 6 10 1 0.000 1
18 6 10 1 0.000 1
19 5 11 1 0.000 1
20 5 10 1 0.000 1
21 5 11 1 0.000 0
22 5 10 1 0.000 1
23 4 10 1 0.000 0
24 3 11 0 0.000 0
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E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 3 11 0 0.000 0
2 4 11 1 0.000 0
3 4 10 1 0.000 0
4 4 11 1 0.000 0
5 4 10 1 0.000 0
6 4 9 1 0.000 0
7 4 10 1 0.000 0
8 4 10 1 0.000 0
9 4 10 1 0.000 0
10 3 12 1 0.000 0
11 3 10 1 0.000 0
12 4 11 0 0.000 0
13 4 12 1 0.000 0
14 4 11 1 0.000 0
15 5 11 1 0.000 0
16 5 11 1 0.000 0
17 5 12 1 0.000 0
18 5 12 1 0.000 0
19 4 11 1 0.000 0
20 4 11 0 0.000 0
21 4 10 1 0.000 0
22 4 11 1 0.000 0
23 4 12 1 0.000 0
24 4 12 1 0.000 0
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E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 4 13 1 0.000 0
2 3 11 0 0.000 0
3 3 10 0 0.000 0
4 3 11 0 0.000 0
5 3 10 0 0.000 0
6 3 10 0 0.000 0
7 3 12 0 0.000 0
8 3 10 0 0.000 0
9 3 10 0 0.000 0
10 3 10 0 0.000 0
11 3 11 0 0.000 0
12 4 11 1 0.000 0
13 4 11 1 0.000 0
14 4 10 0 0.000 0
15 4 10 1 0.000 0
16 4 12 0 0.000 0
17 5 11 1 0.000 0
18 5 13 1 0.000 0
19 4 12 1 0.000 0
20 4 11 1 0.000 0
21 5 13 1 0.000 0
22 5 10 1 0.000 0
23 6 11 1 0.000 0
24 6 11 1 0.000 0
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o i# o
20235128 31H (H)
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E% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
gl 430 250 #2700 0.040 50
1 5 11 1 0.000 0
2 5 11 1 0.000 0
3 5 11 1 0.000 0
4 4 11 1 0.000 0
5 5 12 1 0.000 0
6 4 10 1 0.000 0
7 4 11 1 0.000 0
8 4 11 1 0.000 0
9 4 10 1 0.000 0
10 4 11 1 0.000 0
11 4 10 0 0.000 0
12 4 11 1 0.000 0
13 4 11 1 0.000 0
14 5 10 1 0.000 0
15 5 12 1 0.000 0
16 6 12 1 0.000 0
17 5 11 1 0.000 0
18 5 10 1 0.000 0
19 6 11 1 0.000 0
20 5 11 1 0.000 0
21 4 10 1 0.000 0
22 4 11 1 0.000 0
23 4 10 1 0.000 0
24 4 10 1 0.000 0
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